De Qualitate Argument Schema
Below the page:line notation n:m is used.  Here n refers to the translation’s page number and m to the line number of the paragraph, which corresponds to the line number of the text in the original Latin version.

3:5
The Primary Syllogism
[1]
Every non-quantity is either a substance or an accident other than quantity.

[2]
No point is a substance or an accident other than quantity.

[3]
Therefore, Every point is a quantity

The major premise [1] is understood to be trivially true because it follows from the basic division of everything “that is” into the 9 Aristotelian categories of being which consist of substance, quantity, and the accidents other than quantity (i.e. relation, time, place, action, passion, habit, orientation).

Ockham then argues for the minor premise [2].  He has three main arguments.  

3-9:196.
Main Argument 1.  

The first argument for [2] takes up most of the text, starting on 3 and ending page 9.  It defends the following syllogism:

[a]
No point is a substance.

[b]
No point is an accident other than quantity.

[c]
Therefore, no point is a substance or accident other than quantity.

3:5
Ockham argues for [a]:

[A]
Every substance is either matter, form, a composite of matter and form, or an abstraction from such a composite.

[B]
No point is matter, form, a composite of matter and form, or an abstraction from such a composite.

[C]
Therefore no point is a substance.

Here [A] is an assumed metaphysical principle, and [B] is thought to be obvious.

The rest of the reading consists of argument for premise [b] above.  The argument consits of the following syllogism stated at 3-4:16:

[i]
Every accident other than quantity is either a whole in a whole and a whole in apart (WWWP), a whole in a whole and a part in a part (WWPP), or an indivisble whole (IW).

[ii]
No point is a WWWP, WWPP, or an IW.

[iii]
Therefore,  no point is an accident other than quantity.

The argument for [ii] is broken down in to three subcases:

[a]
No point is a WWWP.

[b]
No point is a WWPP.

[c]
No point is an IW.

The arguments for [a] and [b] are relatively short and sweet.

4:25. 
[a] is shown by a reduction to the absurd of its opposite.

5:76
[b] is shown by the curious argument that if [b] were true a point would be a whole in a whole and a part in a part and hence would be essentially a quantity, which is what the whole argument is trying to prove.  So if [b] were true the argument is over and the main point is proven.

6:80-121.  [c] is shown by several of argument that reduce the opposite of [c] to the absurd.  Here IW is understood in the sense that a point is an indivisible entity that is “in” another entity that is a “whole” and hence itself divisible.  In these cases, it is also assumed that the point is in the parts of this “whole” after the division.

7:139-9:196.  In these passages, [c] is reformulated in way that covers possibilities that the first version seems to rule out., namely, a point is understood as an indivisible in a whole but in such a way that the point is not in any of the parts of this whole.  Ockham then advances several arguments that show that either this notion of [c] does not apply to points or that if it does, the negations of [c] continues to be absurd even under the revised formulation.

9: 195-235.
Main Argument 2.  Ockham argues that if a point is an accident other than quantity, it cannot be is in a subject that is per se in category, i.e no point is in something that in virtue of its own nature and being be classified as independently existing entity in a category.  He thinks this is so because for a non-quantitative point to exist, it must be “in” something else that is real. 

9: 235-248.
Main Argument 3.


[A]
If  [2] were false, there would be an infinite number of points in actual existence.

[B]
There is no actual infinite.

[C]
Therefore [2] is true.

10:248-256.
Main Argument 4.
[A]
If  [2] were false, then new entities, namely points, would come into existence by the act of cutting.

[B]
No new entity comes into existence by cutting.

[C]
[2] is ture.

10:256-269.
Main Argument 5.
[A]
 If  [2] were false, there could be creation ex nihilo of points.

[B]
There is no creation ex nihilo for points.

[C]
Therefore, [2] is true.

